T 6 EENKT R EFMIETR (56 %5)

TR FEENBTO - BFHMETHE (F65) X, RICEDD &I A
X5,

(s A0 7 5 o 4l 1E)
FBl1gd mARMHTEROBEBEICHE AKME TN T 344,706 THZEBM L.,
ik Ak T OB & sk AR E L E AL 66,425,468 T &35,
2 WMARHTHEOMEDKEORX 5 KN YFKX S I Lol M IE
BOMARM THEHOESEIL, 1H 1 RKAKH TEME] ITX 5,



o1 K AN A A
53 A
S 7 FIERTOKE | # IE %A &t
SHE] I FH
22 fBk4 1, 407, 032 344, 706 1,751, 738
1 b4 1,407, 032 344, 706 1,751,738
Tk A ras =} 66, 080, 762 344,706 66, 425, 468

ik s
K H FIERTORE | Ml IE %8 At

TH TH TH
e 369, 549 2, 157 371,706
Hmet 369, 549 2, 157 371, 706
s 6,512, 647 62,658 6,575, 305
s Lty 3,891, 201 34,920 3,926, 121
(E0TE- 816, 103 13, 757 829, 860
FEHE REAR B 551, 826 5, 572 557, 398

¢
R 99, 025 423 99, 448
ot 1 A 25, 208 484 25, 692
AT B 49, 283 964 50, 247
22 277, 514 2, 841 280, 355
PR Rk (i 802, 487 3, 697 806, 184
A% 28, 204, 919 152,579| 28, 357, 498
FhsE LR 10, 777, 827 15,352 10,793,179
ENfEALE 4,502, 693 9,142 4,511,835
IR AR 10, 296, 744 122,422 10,419, 166
IR E R 2, 618, 280 5,663 2,623,943
A 6, 862, 109 19,819 6,881,928
DRl g A 2 4,078, 955 15,611 4,094, 566
5t 2, 783, 154 4,208| 2,787,362
et 177, 755 180 177, 935
I B 177, 755 180 177, 935
R 439, 665 3, 266 442,931
-y 425, 570 3, 266 428, 836
PH L2 2,623, 415 7,034 2,630,449
PE L& 2,623, 415 7,034 2,630,449
TRE 7,870, 611 27,815 7,898, 426
TARE B 397, 710 8, 829 406, 539




K H FIERTORE | M IE 48 at
T T TH
2 EREY O 1, 462, 449 1,733 1,464,182
3 NE 371, 142 1, 809 372, 951
4 P E 5, 398, 523 15,025 5,413, 548
5 fEE% 109, 857 419 110, 276
9 {HBI# 2, 090, 855 39,862 2,130,717
1 HBG% 2, 090, 855 39,862 2,130,717
10 #HBEE 9, 968, 846 29,336 9,998, 182
1| BERGE 3,115, 999 12,878 3,128,877
N 1, 256, 736 2,830 1,259,566
3 IR 728, 037 1,316 729, 353
4 LR 493, 307 1,727 495, 034
5 BB L 3, 375, 460 10,585 3,386,045
% & &t 66, 080, 762 344,706 66, 425, 468




i L THICB T DR E

H
w
Ny



A6 N R FETH (B 65) e

R 6 AR E /N T [ R B R O R S SE R Bl 2 R IR T O

RN 6 A R AR AR T At S 2 N B S X
ERRSFHMETE (F25) - SRR
3 F0 6 4 BE R AR AR T At ) 2 2 /N BOE I 1L AT X

fi%%%‘%”xﬁ‘*ﬁE%% (%277_)

R 6 AR HE R AR T R I S S o X B S

BER A A E T B (5 3 ) v vvre e e e

TR 6 A L AR R T R T 2 N BOAS T A X R P e
ERBISFMETH (3% - SRRERREE
/\$D6$T“/J\Wrm| IR EERNSFIME TR (G

SR FEE/NRTHIHRIEFERFHMETHER (83
BSROEE/NHKEFESFHMETE (B2
SME6FEENMTH T AKEFESHMETHE (GF

By e
2



A 6 4 E

IR — R EFHHIE TR (5 6 &)



e NI HE AR 1T B S TR B 0

1 # &
(& AN)
B/ i IERT D%A W OE % #t
ERE) ERE) ERE]
22 k4 1, 407, 032 344, 706 1,751, 738
% A & g 66, 080, 762 344, 706 66, 425, 468

(k)

WOE ®m o B O N iR

b5 IERTORE | 4l 1E % B O O | i
— AR

ERZHA| # 5 F | £ o

M M M M M M M
1 i 369, 549 2, 157 371, 706 2,157
2 B 6,512, 647 62,658| 6,575, 305 62, 658
3 BRA% 28, 204, 919 152,579 28, 357, 498 152, 579
4 fhre gy 6, 862, 109 19,819 6,881, 928 19, 819
5 FrEE 177, 755 180 177,935 180
6 FEIRE 439, 665 3, 266 442,931 3, 266
7 BT 2,623, 415 7,034| 2,630,449 7,034
8 tAE 7,870, 611 27,815| 7,898, 426 27,815
9 HBLIE 2, 090, 855 39,862 2,130, 717 39, 862
10 %5 9, 968, 846 29,336| 9,998, 182 29, 336
AR 66, 080, 762 344, 706| 66, 425, 468 344, 706

LA
X = R




(227K) Hluli 4
(178) A4

Fr

227K e

8
DR

1 1E B O %A i IE %A &t
T TH TH
1 A4 1, 407, 032 344, 706 1,751, 738
H 1, 407, 032 344, 706 1,751, 738

TH

344, 706

TH

— Rt




G ¢ 1A e
25K BHE H B E
B BH q B F ¥ o M =
4 HH
T T T
10| 2 FHFE AT AT B R 1 AHE 2,157
() &R 923
534 —fxMEAS (2) —fkm 1, 164
(3) ZFHFEETHIE 70
1,518| iEHIRTY 923
Hdm T4 32
HWIRTY 286
T4 277
95| kB LEHAEE
5, 438 | FHAEEAT F Nk B i 1 A% 34,010
(1) Frpin% 226
14, 488| —fRHAA 14, 178 (2) — % 27,036
DEHEETHBRERS 310 (3) SFHEE(THNE 6, 748
12, 081 | HulsgF2Y 851
WIRFY 5, 992
Eh T4 5, 238
2,003 kEILFHHEE 1, 960
R Py 43
310 ZFHAEFEAT F Nk 2 3 RN == 430
(1) SFHEETHEE
120 MIKFY 60
il T4 60
330 2 FEHEFEAT T 2 1 A% 480
(1) ZFHEETRBE
150 #IKTF2Y 80
Eh T4 70

3 % t
(LK) o
(118) wmaE
i IE Al i . . . . B
H . ffi 1E #H & M OE % o IR N R
D % ES JaN
T T T T
| 369, 549 2, 157 371,706 —fRATE 2, 157| 1 HEM
2 Fakt
3 B Ty %
4
2 369, 549 2,157 371,706 —fRMTE 2, 157
(2FK) BB
(118) e
1 — i e 1, 400, 269 34,010 1,434,279 —f%xRHR 34,010 1 $HREN
2 F5rk
3 B Ty
4 it
6 NFHEHE 88, 986 430 89, 416| —fRMTE 430| 1 HEM
3 MR B Y%
15 AR 538, 208 480 538, 688| —fx R 480 1 M
AAR ¢
3 BB Y%
2 3, 891, 201 34,920 3,926, 121 —fi%UE 34, 920

—fgait



(1) Wik

i IE i o, _ : i 2 i
H i IE %A &t M IE s o M JE N R
D FE X ga
T T T T
1 PSR & 393, 951 12, 527 406, 478| —HRIATE 12,527 2 #&#t
3 MR B Ty
4 ekt
2 TR E 72, 655 260 72,915 — xR 260| 1 HRAH
3B Y%
3 EPERE 62, 566 410 62,976 —HRMTE 410] 1 HEM
3 BB Y%
4 T
4 1R 286, 564 560 287, 124| —fxHJR 560 1 R
3 BB Y%
B 816, 103 13, 757 829, 860| —fixMTR 13, 757
(3IH) FPEEREARIEE
1 FEERE 551, 826 5,572 557, 398 | —f% R 5,572| 1 HRpEH
KEMRE
2 fakt
SHRE Y%
4 FLEEE
i 551, 826 5,572 557,398 | —RRATE 5,572

23K WRHSE: 2TH MR
STH FEHMEREAGIEE
B, ] H K F ¥ o W =
4 HA
T T T
6, 714| — x4 1 A% 12, 527
(1) —eh%
4,942 Huls T4 403
WARTY 2,399
Eh T4 2,140
871| BB ILFHEE 869
e Py S 2
140 = FHE AT TR B S 1 AHZ 260
(1) SFHEEMTHEE
120 BIRTFY4 60
il T4 60
260 = FHEFEAT T 2 1 A2 410
(1) SFHEETHEE
140| IR FY 70
i T4 70
10| #-ErRpk
320 | 2 FHAEBEAT FH TRk 2 1 A% 560
(1) SFHEETHEE
240| HIKFY 130
Bh T4 110
890 = FHHEFEAT H 23N 1 A 5,572
(1) —f&m 4, 062
1,963 —fHkAA (2) ZFHEETRBE 1,510
2,357 HufkFY 118
HWIRTY 1,178
B T4 1,061
362 BRELFMAE 330
I PNy 32

—fgait




2K BB 410 FRZEE
SIH HEtiAA
61 LB
(417) ®EE TH TREZEE
W OIE B o 3} . o i )
H - fill IE G il IE A2 o IR P9 RR [ ] B OF K 0 B OH
PN ERAS & HH
T-H T-H TH T-H T-H T-H T-H
| SFEHE 18, 457 423 18, 880 | — %R 423 2 Kk 210 —fBemkAa 1 A% 423
Bat (1) —h%
3B Y% 180 | Hutsi=F4 13
IR TY 89
Eh T4 78
4 i 33| WEILFHAEE
= 99, 025 423 99, 448| —fRATE 423
(5IH) HFtTRA%E
1 WFA 25, 208 484 25,692| —#xMR 484| 2 #&5¥) 256| —fRIEkAG 1 A% 484
(1) —f%i%
SHRE Y% 193] Hufs24 16
WIRFY 93
T4 84
4 LB 35| BB HEHLA
B 25, 208 484 25,692 — xR 484
(61H) B EE %
| EEREE 49, 283 964 50, 247| — XA 964 2 ¥k 448 —HEHRAG 1 A 964
(1) —eh%
3 kB T4 % 445| Hufs T4 27
WARTY 211
Eh T4 207
4 LB 71| BEFHAEE
= 49, 283 964 50, 247| — xR 964
(711R) ThRZ2eH
1 R 114, 631 2,151 116, 782| —fi%xH IR 2,151 1 HRpEH 210 = FHFBEAT T 2 3R NG 2,151
(1) —fBemsk 1,791
2 Fakk 821| —MmkAS (2) SFHEETHEE 360

s




W E o, ) \ o m
H - i IE %A &t M IE s o M JE N R
» = K 4
M SHE] T M
3B Y%
4 Skt
2 AZ@BHA0 %t 109, 982 190 110, 172 —f%R 190 1 #REM
RE
3 HRE Y%
3 ZfrdtAg 52,901 500 53,401 —#RHIR 500 1 P
#
3 kB Ty
B 277,514 2, 841 280, 355| —fiXHTE 2, 841
(8IH) EREZHE(HE
1 BREE G 221, 059 2,431 223,490 —fRATE 2,431 1 ¥R
2 okt
3B TYUE
4 Skt
3 RIBEBURE 567, 987 1, 266 569, 253| —f% R 1,266| 1 M
2 fakt
SHRE Y%
4 FLEEE
&t 802, 487 3, 697 806, 184| —HxATE 3, 697

B, ] H K F ¥ o W =
4 HA
T T i
979 HulsF>4 49
HWIRTY 478
Bl T4 452
141 BEIFHEE
110 ZFHEEAT 1% B SR RN i< 190
(1) SFHEETHEE
80| HIKFY 40
T4 40
340 | ZFABEAT F TR 2 En 1 A% 500
(1) ZFHFEETHBE
160 #IKTY 80
Bfh T4 80
100 2 FHFEEAT T B 1 A 2,431
(1) —fxhs% 2,251
1, 157| —fREERAS (2) ZFHEETRE 180
1, 008| HuskF24 70
IR TY4 488
Eh T4 450
166 WEEILFMHEE
50| 2B FEAT I 2 1 A 1, 266
(1) —fremsk 1, 156
670 —fxEEAS (2) ZFHEETRBE 110
475| HikF1Y 40
HWIRTY 228
B T4 207
71| BB ILFHEE

—fgait



(3K A%

(15H) tEamak#

i 1E Bif . . . . . Rp
H » i IE #H 7t wOE g o B IR AR
D FA X ga
TH T T T
1 S tEabie 2,161, 600 12,193 2,173,793 —x5 12,193 1 A
wE
2 Fak
3 B Ty 5E
4 Hext
27 W 4
2 DEREES 6, 514, 062 1,512| 6,515,574 —#xR5 1,512 1
fEukE
3 kB Ty
4 Skt
3 [EIEE AL 1,610, 836 260, 1,611,096 —#xs 260 1 M
3 B Ty
4 HERFEeF 27,766 1, 247 29,013 —#xR 1,247| 1 5
vt
2 okt
3 BB Y%
4 it
5 KRk 463, 563 140 463, 703| — xR 140| 1 REH
WITPE D R
RERG A4 5 SHRE Y%
M EY
&t 10, 777, 827 15,352 10,793, 179| — xR 75 15, 352

3k RAEE 1IH thtmakgy
B BH F B F ¥ o M
4 KA
I TH i
120 ZFHEEAT A% B Hin 1 AH%E 11, 493
(1) —fixh% 11, 293
6,251 | —ixhkie (2) SFHEETHEE 200
2 [E R ER RS ¥ 700
4,370| HitskF2Y 376 (1) /INBCHT ] Rt B R R = 2 Rl | 2 S H
WIRFY 2,107 4>
T4 1, 887
752| BB LFEHEE
700 [E BRI SRR S R 4
1, 162| 25T BT FHT B 1 A% 1,512
(1) ZFHFEETHBE
330 HiRTFY 170
Bfh T4 160
20| Wik B LA
180 2 FHFEEAT T B 1 A% 260
(1) ZFHEETRBE
80| HiARTY 40
Bfh T4 40
100 2 FHE AT 1% B R 1 AZ 1, 247
(1) —h% 1,047
614| —MBmELG (2) SFHEETHEE 200
469| HitskF24 37
WIRFY 227
Eh T4 205
64| FkEILFHEE
60| = FHAE BT AN B R RN == 140
(1) SFHEETRBE
80| WIKFY 40
Eh T4 40

—fgait



(25H) ZAfEALE

WO Al o ) \ o i
H i IE %A &t M IE s o M JE N R
D %’E IZ IN
M SHE] T M
1 #ZAfMEALRE 724, 724 6, 872 731,596 —f%HJR 6,872 1 M
v
2 okt
3SHRE TYUE
4 Skt
4 IR E 1,475, 983 2,270, 1,478, 253| —fxAJE 2,270(27 #H4
&t 4,502, 693 9,142 4,511,835 —fxiE 9, 142
(318) REMmEuLE
1 VR m A 381, 426 10, 076 391, 502 —fRRATE 10, 076 1 M
B
2 Fakk
3 HRE Y%
4 St
2 B T 3, 126, 285 18,850| 3,145, 135 — i 18,850 1 ¥l
#
3 B Ty 5E
4 HeiE
3VEDEF 587, 443 410 587, 853| — kI 410] 1 HREM
i R
SETYUE
4 REREE 5, 642, 694 89,280 5,731,974 —fxRR 89, 280 1 M

3k RAEE 2TH & NIEALE
3TH R EE AL
B ] H K F ¥ o W =
& FH
M SHE] M
280 | 2 FHAEBEAT FH TRk 2 1 A% 6, 872
(1) —fixh% 6, 432
3,501 —M%IkAG (2) ZFHEETHEE 440
2,654 HilkF1Y 210
IR TY 1,291
Eh T4 1, 153
437| BREILFMHEE
2, 270| iR S R S a4 1 I RELRBREER R S ¥ 2,270
(1) /N A LR B S 2E R B = g 4
480 | 2 FHFEEEAT T B BN 10, 076
(1) —f%i% 9, 356
5, 142| — %ML (2) SERHEETRE 720
3,841 M4 309
HARFY 1, 869
Bh T4 1, 663
613 kB ILFHEE 611
PR 2
15, 040 | =54 FEAT H 8 B 1 A% 18, 850
(1) =FHEETRBE
3, 540| HWiIRFY 1, 840
Eh T4 1, 700
270| Wk B LA E 100
SRR 170
230 ZFHAEFEAT AN B 3R 1 AHZ 410
(1) SFHEETRBE
180| IR TFY4 90
Bl T4 90
22, 710 ZFHFEEAT AN B i 1 A% 89, 280
(1) —fxhs% 59, 460

—fgait



3k RAEE 3TE IR EEALE
4TH AT EE
B, ] H K F ¥ o W =
4 HA
M SHE] M
35, 344 | — XA 34, 194 (2) SFHEEMTHEE 29, 820
SEHEEERABER 1, 150
27,076 HilskF4 2,052
WIRFY 13,271
T4 11, 753
4,150 BEILFMHEEE 3, 887
SRR 263
1, 930| 2 FHFEEAT AT B i 1 A% 3, 806
(1) —fBemsk 1, 096
485| —fRESkAA (2) ZFHFEETHE 2,710
1, 245| Hils T4 29
IR TY 635
il T4 581
146| BRELFEMAE 116
R Py 30
950 =R FEAT H % B 1 A% 5, 663
(1) —i 4,373
2,480 —fxI%AS (2) SFHEETHEE 1,290
1,942| HulsF2Y 149
WARTY 948
Eh T4 845
291| BB LA A 281
SRR 10

W E o, ) \ o m
B ff IF %8 &t MOIE % o /B IR N R
D KE X I\
T T T T
2 #eEH
3B F%
4 Hext
5 AR 536, 896 3, 806 540, 702 —fATE 3,806| 1 HEM
2 Fakk
3B Y%
4
g 10, 296, 744 122,422| 10,419, 166 — it 122, 422
(478) ATL{REE
1 IR REE 2,618, 280 5,663 2,623,943 —fxUIER 5,663 1 ¥
2 F5Ek
3TRE Y%
4 HeiE
Z 2,618, 280 5,663 2,623,943 —fEiAYR 5, 663

—fgait



(43K) M=%

(11H) fri@ets

4R AR

1 ORfdfs g

i IE i o, _ : i 2 i
H i IE %A &t M IE s o M JE N R
D KA X ga
M SHE] T M
1 PRffE AR 959, 111 13, 041 972, 152| —fMTE 13,041 1 M
v
2 okt
3SHRE TYUE
4 Skt
3 BRbEf A 99, 092 560 99, 652 —HRATE 560| 1
3 HRE Y%
4 PREEF S 388, 289 2,010 390, 299 — A TE 2,010] 1 ¥HEM
3 B T
4 ekt
B 4,078, 955 15,611| 4,094, 566| —f%xA7R 15,611
(2m) e
1 5k 122, 495 2,178 124, 673 —fxE 2,178| 2 &kt
3 BB Y%
4 HeiE
2 LR 2,496, 535 2,030 2,498,565 —fxRIE 2,030| 1 HHEM
2 FeEk

3B TH5%

25 JHf
B B H K F ¥ o W =
& FH
T T T
240 | 2 FABEAT FTR 2 En 1 A% 13, 041
(1) —fixh% 12,611
6,982 —M%IkAS (2) ZFHEETHEE 430
4,986 HilkF1Y 419
IR TY 2,414
Eh T4 2,153
833 BB ILFMAE
480 | FHAFEEEAT FNk B 1 A% 560
(1) SFHEETHEE
80| HIRFY 40
Eh T4 40
1, 540| 2> FHEEAT FH T B A 1 A% 2,010
(1) =FHEETRBE
440| HIRTF2Y 230
Bh T4 210
30| WkEILFHEE 10
SRR 20
973| —MHkAG 1 A 2,178
(1) —eh%
1,016| HilgFY4 59
WARTY 501
Eh T4 456
189| Mk B ILFHHEE
490 | SFHAEEEAT Rk B i 1 A% 2,030
(1) SFHEETRBE
880 XFHFEATHIER
630| HKFY 320
Eh T4 310
30| FEPRRRE

—fgait



4R AR 2TH JEfE
5k 8 LIH S f#Ra 2
62K AR IR ==y
(G R ¢ 1H ps L&
W OIE Al o ) o o i . \
H - fill IE At i IE &0 o IR R ; ] B OF K 0 B OH
PN ERAS & HH
T-H T-H TH T-H T-H T-H T-H
B 2,783, 154 4,208| 2,787,362 —fxHJE 4, 208

(53K) Frfgh &
(1) Frflhse#e

1 {8t 20, 062 180 20, 242| — xR 180 1 M 120 | 2 FHAFE AT F ik B R i BN 180
(1) ZFHEETHBE
3B Y% 60| HIRKTY 30
B T4 30
&t 177, 755 180 177,935 —fRBFTR 180
(63k) EAME
(117) REXEHE
2 BN 95, 963 2,336 98, 299| —fRHIR 2,336| 2 #Ek 1,159 — ke BN 2,336
(1) —eh%
3B Y% 997 | Hhuls T4 70
WIRFY 484
Eh T4 443
4 FEE 180| Mk B LA #
3 IR 77,572 660 78, 232| — xR 660 1 P 520 | 2 FHAEBEAT AR B R 1 A% 660
(1) SFHEETRBE
3B Y% 140 AR TY 70
Eh T4 70
4 P 235, 483 270 235, 753 | —f%x R 270127 #hH 4> 270 FTAEFESFHENS (BEEKDE 1 FAGEFHESFHEHFE 270
7K) (D) /NEGH FAGEF S 4
&t 425, 570 3, 266 428, 836| —HRATE 3, 266
(T3K) Pa 1%
(118) pe1%
1 pE Lt 230, 247 6, 194 236, 441| — xR 6, 194| 2 ¥k} 3, 244 | —ERAA 1 A% 6, 194
(1) —eis
3B Y% 2,509 HisskF2Y 195
WIRTY 1,195

—fgait




i IE R i ) . . B B
A i IE A W OiE = W AR o MR N R
D %’E IZ IN
M SHE] T M
4 Skt
2 P s gy 1,919, 113 230 1,919, 343| — xR 230| 1 M
3 B Ty %
3 BRI 101, 877 540 102, 417 —fxHJR 540 1 R
3SHRE TYUE
4 IZEDVA 93, 032 70 93, 102 —fRMIR 70| 1 R
s
3 BB Y%
3 2,623, 415 7,034 2,630, 449 —fXATR 7,034
(8#k) +AE
(11) +AREHE
1 EARRBE 359, 971 8, 699 368, 670 —fRATE 8,699 1 MM
2 okt
3 MR B Y%
4 Skt
3 MR 3,734 130 3, 864| —fixfiER 130 1 M
3 BB Y%
2 397, 710 8, 829 406, 539| —HRATE 8, 829

T P RN
8k A% 1 HREHE
Fi ] H K F ¥ o W =
& FH
T T i
E)h T4 1,119
441 BREILFEMEEE
170 2 FHFEEEAT HTE B 1 A2 230
(1) ZFHEETHBE
60| HIRKTY 30
Bh T4 30
480| 2 FHFEEAT N B R 1 AHZ 540
(1) SFHEEMTHEE
60| HIKFYH 30
il T4 30
10| AT Tk B i 1 A2 70
(1) SFHEETHEE
60| HIRFY 30
i T4 30
290 | 2 FHAEBEAT FH TR 2 1 A 8, 699
(1) —fxhs% 7,939
4,309 —fRERAS 4, 149 (2) ZFHEETRE 760
SEHEEFHBRERS 160
3, 524 | HulkFY 249
HWIRFY 1,716
Bfh T4 1, 559
576 Mk ILFMHEE
70| 2 FHBEAT AT S EN 1 A% 130
(1) ZFHEETRBE
60| HIRKFY 30
Eh T4 30

—fgait




Q1) EHEY £ O #

W | 4 \ . i
H " i IE %A B i I KE O IR N R
I | X 93
TH TH TH TH
1 EBEY x 14, 327 545 14, 872 —fxJR 545| 2 #&kk
) e
3B TYE
4 $LEE
3 JE AR KL 345, 533 1,188 346, 721| — xR 1,188 2 %5k
=%y
3SHRE TYUE
4 Skt
= 1, 462, 449 1,733 1,464,182 —fxitiE 1,733
(318) )11 %
RGP 33 ¢ 40, 072 1, 699 41, 771 — MR 1,699 2 #&kk
3B TYE
4 Hext
2 ] ) 1R 2 131, 758 110 131, 868 — x4 110 1 #EM
SHETYE
g 371, 142 1, 809 372,951 | —xHAR 1, 809
(4T8) #BTHFF
ISR 400, 996 6, 632 407, 628| — AR 6,632 1 HREN
vt
2 Fakk

8k A% 20 JEHAEY X OB
RAEURCIDIIE - ¢
4TH ERTH A
) ] F B F ¥ 0 M =E
4 FH
T T T
301 | —MmkAS 1 A% 545
(1) —f%is%
207| HiuRFYH 18
WIRFY 100
T4 89
37| BB HLFAA T
750| —MRERAS 1 A% 1,188
(1) —h%
375| HukF Y 45
IR TY4 177
Eh T4 153
63| Mk B LEHE 2
977 —MmkAG 1 A% 1, 699
(1) —f%i%
615 HiukF Y4 58
WIRFY 294
il T4 263
107 BEEIFHEE
50| 2 FHEFEAT ANk B 1 AHZ 110
(1) SFHEETRBRE
60| HIRFY4 30
Bl T4 30
50| 2 FHEFEAT AN B R 1 AZ 6, 632
(1) —i 6, 522
3, 369| —fxIkAS (2) SFHEETHEE 110

—fgait



i IE

5]

MiOIE A oo W IR AN AR

8k A%

ATE HR T T

\

FH

FH

TH

3 kB F45%

4 St

2 ¥R

35, 627

142

35, 769

— ARSI

142

2 FoEk

3B Y%

Ve

o~
5>
bt
i
2

1,296, 571

1,276

1, 297, 847

— ARSI

1,276

1 #Hei

2 Fakk

3 MkE T4

5 4N [ B i

742, 320

1, 168

743, 488

— ARSI

1, 168

3 kB F 4%

4 Hhp gy

6 b X
T

1, 400, 278

1,812

1,402, 090

— ARSI

1,812

1 i

3B TH5%

1, 241, 599

3,995

1, 245, 594

— ARSI

3,995

B B F B F ¥ o M
4 KA
T T T
2, 747| HilskF4 203
WIRFY 1,315
Eh T4 1,229
466 | T ELFHEEE
54| — kRS 1 A% 142
(1) —f%i%
74| Hifsk T2y 3
HWIRTY 37
T4 34
14| BEILFHEE
70| FHEEEEAT 15 B i 1 A% 1,276
(1) —fixh% 1,116
527 —fxmkAS (2) SFHEETHEE 160
588 | HimkF Y4 32
WIRFY 290
T4 266
91| BB ILFMAE
660 — %ML 1 A% 1,168
(1) —h%
433| Hut Y 39
IR TY4 209
Eh T4 185
75| BB ILFHHAE
260 =FHEFEAE T B 1 A 380
(1) SFHEETHEE
120 KT 60 | 2 LHIX RS SER RS S 1,432
Eh T4 60 (1) M X E s S 2L R R S 5 4
1, 432 JEHMRy 1Ly e X F S R T S 5
o4 785
A JE - X R B 2 S R B
4 647
3,995 FAREFHESFHEHE (AILTKE 1 FAGEFHESFHHFE 3, 995

)

(1) /N FAGE SRR

Ein

—fgait



8k A%

9k HPhE
103k #HBEE

ATE FRTT R
SIE (FE%
1IH {ERA#
1H BERGE

i IE A o ) \ i ) i
H » i IE %E at OE % o RN ER
D %A X I\
T-H T-H TH T-H
2 5, 398, 523 15,025 5,413,548 — %R 15, 025
(bIH) (F=E%
| EEE P 109, 857 419 110, 276| —f%xH TR 419 2 k)
3 MR B Ty
4 Lkt
&t 109, 857 419 110, 276| — xR 419
(9%K) THBLHE
(118) HB5s%E
1 WmEEh 2 1, 605, 845 39,862 1,645,707 —fxJE 39, 862| 2 &kl
3 M E Y%
4 Skt
B 2,090, 855 39,862 2,130,717 —MxMJE 39, 862
(107k) #HEZ
(1IR) #HEW®RBEE
2 HERE 836, 369 5, 952 842,321 — %R 5,952| 1 HpH
2 ek

3B F 4%

B B % ¥ D
s = OB = OE G
T-H T-H T-H
254 | —mkAG 1 A2 419
(1) —eh%
141 HisF2Y 15
WARTY 68
Bh T4 58
24| BEHLFHMAAE
21, 422 THBHERAS 1 A 39, 862
(1) VHPHm
15, 668| Hi T4 1,285
IR FY 7,572
Bfh T4 6, 811
2,772| WREILFHHEE 2,761
SRR 11
90| 2B+ FEAT I 2 3 1 A 5, 952
(1) FrhlTs% 58
2,957 — xS (2) —fixi% 5, 744
(3) SFHEETHNE 150
2,483 HitkF1Y 172
HIRTY 1,224
Eh T4 1, 087
422 KB ILFAAAE

s




W E o, ) \ o m
H i IE %A &t M IE s o M JE N R
D %’E IZ IN
T T T T
3 HBEREE 872, 523 5,710 878,233 | —HXIE 5,710| 1 P
3 MR B Ty
4 T
4 B H 1,403, 359 1,216| 1,404,575 —MJE 1,216 1 &R
—#
2 fakt
3 HRE Y%
4 Skt
i 3, 115,999 12,878 3,128,877 — x5 12, 878
(2IR) /NI
| PR TR 966, 551 2,830 969, 381| —fRTE 2,830| 2 fakk
3HRE Y%
4 Hext
2 1, 256, 736 2,830 1,259,566, —fixiE 2,830
(3IH) "
| R 636, 084 1,316 637, 400 —fRATE 1,316| 2 ##k

3 MkE T4

103k #EE A HEwGE
2TH INF
STH HEEi
B B H K F ¥ o W =
& FH
T T i
1, 770| 25T EEAT AT B 1 A% 5,710
(1) SFHEETHEE
3,570 MIKFY 1,830
i T4 1, 740
370 kB ILFEHAE 210
PR BoEH 160
120 | FHAFEAT F ik B i 1 A% 1,216
(1) —e 1,016
399 | —MemkAG (2) SFHEEMTHEE 200
599 | Hilk T4 24
IR FY 289
Bfh T4 286
08| ik B LA
2, 440| SFHEETABERS 1 AR 2,830
(1) SFHEETRBRE
380 HAIKRFYH 200
il T4 180
10| fhPrpE
1,039 —fRERAS 89 | 1 Af#E 1,316
SEHEEEHARBER 950 (1) —eh% 186
(2) SFHEETRE 1, 130
262| HiukF Y 5
WIRTFY 130
Bl T4 127
15| BELFMHAEE

s




103k 2

il

\

{ 3IH PR
AT SR
5IH tLaBE

W | 4 \ . i
H " ffi 1E %8 B i I KE O IR N R
I | X 93
M FH TH TH
5 728, 037 1,316 729, 353| — XA 1,316
(45H) ShME=ZE
1 DM 493, 307 1,727 495, 034| —fRATE 1, 727| 1 M
2 Fakk
3SHRE TYUE
4 Skt
= 493, 307 1,727 495, 034| — IR 1,727
(5HH) tHEHEE
1 FE2HER 239, 522 6, 313 245, 835 | — xR 6,313] 1 HpH
wt
2 Ferk
3TRE T
4 Skt
2 INEUAEE 645, 334 250 645, 584 | — R ATE 250| 1 M
3B T %E
4 FOEBRRK 149, 764 770 150, 534 — %R 770| 1
%
SETYUE

) ] T B F OE o M =
4 A
T T T
410 FHFEEEAT Rk B 1 AH%E 1,727
(1) —fixh% 1,027
567| —HkAG 517 (2) SFHEETHEE 700
SHEEEHRER 50
672 HulF Y 31
IR TY4 330
Eh T4 311
78| kB LFH A
100 2 FHEEEAT H T B 1 A% 6,313
(1) —is 6, 133
3,291 —fxik#s (2) SFHEETHEE 180
2,496 Ml Y 197
IR FY 1,239
Bfh T4 1, 060
426| KB ILFEMEE
130 = FHFEEEAT T B A 1 A% 250
(1) ZFHEETRBE
120 MIRTFYH 60
Efh T4 60
500 2 FHAEFEAT ANk 2 3R 1 AHZ 770
(1) SFHEEMTHEE
270 HAIRTFY 140
Bl T4 130

—fgait



W E ‘ 3} \ ) i .
A | M E it HIE A o IR R B o F B OF Ok 0 W =
O FA X 4y & #
M T T T T T T
6 bR 118, 884 360 119, 244| — %R 360 1 A 70| ZFHEEEAT AN B 1 AH%E 360
% (1) SFHEETRBRE
2 #5EH 120| SEHAEETHBER
3B Y% 170 MIARTFYH 90
Eh T4 80
9 [XEfRE 540, 033 2,892 542,925 — TR 2,892 1 ¥REM 400| 2 FHEEAT A B R 1 AR#E 2,892
(1) —xh% 2,122
2 Fakk 1, 118| —#xukia (2) SFHEETHEE 770
3B Y% 1,213| HulsFY 67
WIRFY 591
il T4 555
4 $LEE 161| BELFEMAEE 151
P R Py 10
= 3, 375, 460 10, 585| 3,386, 045 —fxATE 10, 585

—fgait



MiIE T OB K 5 & B M E
1 Rk
#a 5. %
WhE B i com | | wEE | 8 3
X i wOom | A B (TH) | #lkFY " 7 B
DFEY
RS
(N) FH) | (FA) | =R (HD) FH) | (FH) (FH) (FH) (FH)
18, 799
E = 4 42, 960 2,579 | 6,256 70, 594 10, 024 80, 618
(3.45)
i 63, 643
% B 25 | 152, 664 216, 307 44,275 | 260, 582
(3. 45)
i E#
Z Do
11,335 | 62,757 62, 757 62, 757
B I T
= 1,364 | 215,421 | 42,960 | 82, 442 2,579 | 6,256 | 349, 658 54,299 | 403,957
18, 527
E =% 4 42, 960 2,579 | 6,256 70, 322 10, 012 80, 334
(3.4)
i 62, 720
# B 25 | 152, 664 215,384 | 44,275 | 259,659
i (3.4)
T 1E Bl
Z Do
11,335 | 62,757 62, 757 62, 757
¥E Bl B
2t 1,364 | 215,421 | 42,960 | 81, 247 2,579 | 6,256 | 348, 463 54,287 | 402, 750
272
E % 0 0 0 0 272 12 284
(0. 05)
i 923
= B 0 0 923 0 923
(0. 05)
g
Do
o 0 0 0 0
SlIR
= 0 0 0 1,195 0 0 1,195 12 1, 207




2 Rk
(1) 45
L e 5. by .
W 8 % —— — * B H | A i "
ko5 |MRER T M T B mAFY 2t HR|AE "l =
(N) (FM) (FM) (FM) (FM) (FM) (FH)
( 868)
e # 1,546,898 | 4,048,123 | 3,419,179 | 9,014,200 | 1,665,657 | 10,679, 857
1,027
( 868)
woIE Al 1,486,718 | 3,909,253 | 3,301,494 | 8,697,465 | 1,647,560 | 10,345, 025
1,027
N (0
=9 L1 60, 180 138, 870 117, 685 316, 735 18, 097 334, 832
0
=R T W W e Frk 8% | RERIANE | KH B
X % Y yﬁ%?é fﬂfﬂjziél ﬁ%ﬂ?é Tl f’%?% F
(FmM) (FM) (FM) (M) (M) (M) (FM)
W IE % 132, 572 94, 813 247, 876 52, 580 35,617 243, 594 42, 545
_— i IE B 132, 572 94, 813 239, 909 52, 580 35,617 243, 594 42, 545
B T
o 0 0 7,967 0 0 0 0
NN — -
4& Fﬁﬁﬁ?% N2z ) N7z a N7z N N N7z %ﬁﬂ‘ﬁé%
- (FM) (FmM) (M) (FM) (M) (M)
W OE 1% 16,973 | 1,192,531 | 1,031,881 59, 506 265, 407 3, 284
i 1E Bl 16,973 | 1,134,918 979, 776 59, 506 265, 407 3, 284
g 0 57,613 52,105 0 0 0

C ) PIE, EAERATFHAE M AR BB B & O FHEEEH OB 2 5D 58 Th - T, £O—#RY 72V 0@ OE# iy
IS P S 2 B3 D Mk 2 o o0 DB 0 — B [H] 24 72 V) I8 & D 5 RER I b LW B I SV T E &
T REHEEATHRE LS ORE

e @ 5. #H .
T B %% —— . & % ® | A S
X 55 W RS | Ry 2t - W %
(N) (M) (M) (M) (FM) (FM) (M)
‘ ( 14)
moIE 4 3, 908, 963 2, 896, 376 6, 805, 339 1, 321, 152 8,126, 491
1,027
\ . ( 14)
M 1E R 3,776, 153 2,800, 871 6,577,024 1, 304, 405 7,881, 429
1,027
- ( 0
5 i 132, 810 95, 505 228, 315 16, 747 245, 062
0
— A& 3




=T w s e L kB | R E | KB B
x4y | M BEPY HiIE T2 HE) Y T I N T
(FM) (FM) (M) (M) (FM) (FM) (FM)
i 1E 1% 132, 572 94, 813 247, 876 52, 580 35,617 243, 594 42, 545
B F i 1E i 132, 572 94, 813 239, 909 52, 580 35,617 243, 594 42, 545
[ 0 0 7,967 0 0 0 0
non BEOE | gy | mory | pmey | ommey | SRR
X 4| FH . ’ = RIS T2
= (FM) (FmM) (M) (M) (FM) (FM)
i 1E % 16, 973 908, 569 793, 040 59, 506 265, 407 3, 284
i 1E i 16, 973 862, 406 751, 665 59, 506 265, 407 3, 284
ok 0 46, 163 41,375 0 0 0
( YNIX, EFERTEMEHERRETEREIC YW T EE
EFHEEAE AR A
I % 5 # . B}
= H3 /El\ g
koo |MRR TR T B | mATY 2 o R "l =
(N) (FM) (M) (M) (FM) (FM) (FM)
( 854)
W OIE # 1, 546, 898 139, 160 522,803 | 2,208, 861 344,505 | 2,553, 366
0
‘ ( 854)
WOIE R 1,486,718 133, 100 500,623 | 2, 120, 441 343,155 | 2, 463, 596
0
(C 0
e iy 60, 180 6, 060 22, 180 88, 420 1, 350 89, 770
0
o SN HWIRTY Ehih T2
ik 2T (F) | (TR
i 1E 1% 283, 962 238, 841
NN
i 1E i 272, 512 228, 111
i A % 11, 450 10, 730

( YN, SEFHFEEEAOREZ D 2B Th - T, £O—HEF M7=V OB O EF R N IR 2 29 2% 5o 2
B o — 272 Y O OEFRRIC I LEVIERIZ OV T E



FEER K OV B T4 O 1 AR O B

N
73

I8
(M)

O BB ER

(F-H)

B
(FM)

] 5

Ft

138, 870

i G UUE S
5 HEBY

138, 870

SRR T IR O TR O# 5808 Dk
it

fEtOgESR  3.62%
AR {
fa G- MR 4 A

Jfgk

0

\
,

IS

117, 685

il BE e 1B 1T
£E S By

49, 282

WRTH

24, 873

ERRGEIA % 0.05 H 08
2.45 H4y—2.5 A%y
(2.05 A43—2.1 H43)
<1.375 Hoy—1.4 A4
(3.4 A4>—3.45 A4y)
6 HHISTMEIE 1.225 AS [BUATEBY]
(1.025 H4y) [BATERD]
<0.6875 Ho> [HATER D]
(.7 A%) [BATERY]
12 A B HaEIE 1,225 A 4y—1.275 A4y
(1. 025 H4y—1.075 H4y)
<0. 6875 A 43y—0.7125 A 43>
(1.7 A%—1.75 A%
=RrEEEMEIR L HIE
TE AR R FHT  AE R R B S R 21
%5 EIE
() =FETUMNREICRLIEE

()
<>

BT

24, 409

R GEIA % 0. 05 H o8
2.05 H4y—2.1 A%y
(2.45 A%y—2.5 A4Y)
<0.975 H4r—1.0 H4>
6 HHISmEIE 1,026 S [BlUATEBY]
(1.225 A47) [BlATER D]
<0.4875 H4y> [HATERBD]
12 A#ISHEIS 1,025 A5—1.075 A4
(1.225 H4y—1.275 A4y)
<0. 4875 H 4y—0.5125 A%
() =FEEHREIFLITE
<> =TERETRERMEEREA
BRHEE

Z Dt DI
oy

68, 403

M T4
HIRFH
T4

7,967
32,740
27,696

Y VAN
X = B



